9.1: Parallel Lines and Angles

W“‘i’-/%lE you have two parallel lines that a cut by a transversal, the angles that are created are all related to each
otl" XVany of these angles will either be congruent or supplementary.
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Define and label each of the fo!lowmg relationships. Then determine if the angles are congruent or
supplementary.
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1) Identify each relationship. State whether the angles are congruent or su;;;xlementary.
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2) Find the measure of the missing angle.
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3) Find the value of x. Then solve for the measure of the angle.
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